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Physical Education
Paper 11
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Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

3ed. |d 939 dred.

AT ;A YA THYT IR (100) S9art U9 fEerel efed. Uoieh TRATel | (2) 0

Select the correct answer from the

choice given below :

(z) Pilot study is not required in
psychomotor test construction

(11)) Newly constructed test should
be as realistic as possible

(A) Both (i) and (ii) are correct

(B) (it) is correct and (i) is wrong

(C) (@) is correct and (ii) is wrong

(D) Both (i) and (ii) are wrong

In continuous and comprehensive

evaluation, assessment of a

student’s performance includes :

(A) Only written exams

(B) Only practical exams

(C) Both scholastic and co-scholastic
areas

(D) Only theoretical exams

In ticket pricing strategies, what

does “dynamic pricing” refer to ?

(A) Fixed ticket prices

(B) Prices that change based on
demand and other factors

(C) Discounted prices for group
bookings

(D) Early bird pricing
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Putting plans into action, best

describes the function of :

(A) Planning

(B) Organizing

(C) Directing

(D) Controlling

Which of these are general

supervisory practices ?

(A) Communicate with participants
by various media

(B) Crowd control for large event

(C) Assignment of personnel in
accordance with competence
and suitability

(D) Safety of person and property

Which media platform is commonly

not used for live, updates and real-

time communication in sports ?

(A) Newspaper

(B) Radio

(C) Television

(D) Social media

Once a promise is broken under a

sports contract it is known as :

(A) Disaffirm

(B) Breach

(C) Waiver

(D) Release of liability
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Match Column I with Column II :
Column-I

(@) Stakeholder’s Principle

(b) Continuous improvement
principle

(c) Cross-Functional Principle

(d) Competition Principle

Column-II

() Periodic audits, reviews and
opinion surveys with user
groups

(z1) Cross-functional teams or task
forces be formed to plan

(zii) Recognize the competitors
programs, facilities and perks

(tv) Include consumer, user, special
interest group, employees etc.

Options :
(@ b)) (@ (@

A @ @ @G Go)

B) @ @) Gv) @)

(©) @) Gv) @ @)

D) @) @) @) D)

External support system involves :

(A) Payroll and Benefit
management

(B) Legal services, Medical
assistance

(C) State and Local Policies

(D) Staffing and Recruitment
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10.

11.

12.

A person who leads, motivates and
controls organization resources is
known as :

(A) Guide

(B) Manager

(C) Entrepreneur

(D) Worker

The concept of zero base budgeting
is :

(A) Planning the budget of current
year considering the current
scenario

No justification for the
expenditures planned in budget
year

Requires justification for all
expenditures that are requested
Developing budget by using
previous year’s budget as a base
Assertion (A)
involves organizing, administering
and supervising the work.
Reason (R) : Well began is half
done.

In the context of above statements,
which one of the
statements is correct ?
(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

Both (A) and (R) are correct and
(R) is not correct explanation
of (A)

(A) 1s true, but (R) is false
(A) 1s false, but (R) is true

(B)

()
(D)

: Management

following

(B)

(&)
(D)
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13.

14.

15.

16.

Which of this statement is not true ?
(A) Students’ preferred learning

modes have significant
influence on their behavior and
learning

(B)
(C)

every student learns differently

Student mostly learns well

when not forced to study

Students with strong reading/

writing preference learns least

through words

Curriculum means :

(A) All the experiences which
students get in school

(B) Subject that are transferred by
the faculty

(C) Syllabus prescribed for the
course

(D) Class experiences games and
sports

Which of these is not the approaches

to lesson planning ?

(A) Project Approach

(B) The Evaluation Approach

(C) The Herbartian Approach

(D) The Indian Approach

Statement (I) : Boys and girls are

more alike than different in

childhood when doing physical

activities.

Statement (II) : Motor skills

develop as a result of practice.

(A) Statement (I) is true, Statement

(II) is true

Statement (I) is true, Statement

(II) is false

Statement (I) is

Statement (II) is true

Statement (I) is false, Statement

(IT) is false

(D)

(B)
©) false,

(D)
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17.

18.

19.

Which of this technology may be

used to show evidence of

improvement and makes practice

more meaningful for students ?

(A) Instructional technology

(B) Video feedback

(C) Google spreadsheet

(D) VCR technology

Arrange the following teaching

process in order :

(z) Relating the present knowledge
with the previous knowledge

(it) Evaluation

(zii) Re-teaching

(tv) Formulating objectives

(v) Presentation of materials

Choose from the sequence given

below :

A @ @ @) @ o

B) @) @ @) @ @)

C) v (@ @) @ @)

D) Gv) @O @ @ @)

Knowledge under cognitive domain

do not consider :

(A) Facts and terms

(B) Date and place

(C) Rules and categories

(D) Assesses value

17.

18.

19.
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20. Assertion (A) : Often teachers

21.

believe that to motivate students

they need to offer rewards.

Reasoning (R) : Several research

studies have found that incentives

have detrimental effect on
performance.

In the context of above statements,

which one of the following statement

is correct ?

(A) Both Statements (A) and (R) are
true but (R) is not the correct
explanation of (A)

(B) Both Statements (A) and (R) are
false

(C) Both Statements (A) and (R) are
true and (R) 1is correct
explanation of (A)

(D) Statement (A) is true and (R)
is false

Match Group-A with Group-B :

Group-A

(@) Flexibility

(b) Agility

(c) Strength

(d) Power

Group-B

(1) Plyometric

(z1) Taper

(tii) PNF

(iv) Olympic Lift

(v) Shuttle
(@ b)) (@ (@

(A @ @) G (v)

B) G ) Gv) @

(C) @) @ (Gv) ()

D) @) @) () @)

APR - 71224/I11—D

20. ufauresd (A) : sTHehar forersmT=n st&n

fogara a1me 1 fageneatn I el

AT S Q0 STEvEe IR

HEUT (R) : 3 GINYA ST

W AR A TR H TS

FrEiedaR BIFehRE J9E Tl

S faemr=n Suid, Eeiieiish ShIod

faem e e ?

(A) fa9m (A) a1 (R) SF81 ¥ 3TTed,
wg (R) ® (A) 3 Fm S
RIE]

(B) fa&m (A) 37for (R) St @IeT 3Ted

(C) faam (A) suftn (R) Sl ¥ 3T
70T (R) ® (A) 9 e TR
3T

(D) faum™ (A) 9 318 o7 (R) 319
AR

. Sl Te-A U Me-B

Te-A
(@) Tar=ehdl
(b) feemaHEm
(c) Tehg
(d) Skt

Te-B
() EEHgES
(i) W
({ii) HEATHh
(o) Affafas fawe
(v) TEA

(@ b)) © (@

A) @) @) Gu) (v
B) @) ) @) @
©) @) @ Gv) )
D) @) G @ G@)

[P.T.O.



22.

23.

24.

25.

Creating developmentally

appropriate lessons, adapting

material to the needs of specific

students are example of :

(A) Content knowledge

(B) Pedagogical content knowledge

(C) Technological content knowledge

(D) Knowledge of learners

Which of the following is not the part

of wellness ?

(A) Physical wellness

(B) Social wellness

(C) Mental wellness

(D) Anxiety

The aim of health related fitness is

to prevent :

(A) The way of life

(B) Power of thinking

(C) Diseases

(D) Capacity to perform

The “PRICE” principle for treating

soft tissue injuries stands for :

(A) Prevention, Restoration, Ice,
Compression, Elevation

(B) Prevention, Rest, Inclination,
Compression, Elevation

(C) Protection, Restoration, Ice,
Compression, Elevation

(D) Protection, Rest,

Compression, Elevation

Ice,

22.

23.

24.

25.
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26.

27.

28.

29.

Which of this method is best strategy

to know the body fat distribution ?

(A) Body Mass Index

(B) Waist to Hip Ratio

(C) Waist to Abdomen Ratio

(D) Body Hip Index

Which of the following is not the

primary mode of transmission of

communicable diseases ?

(A) Airborne

(B) Direct Contact

(C) Water Borne

(D) Overcrowding

What is the key objective of National

Health Programme ?

(A) Increasing healthcare costs

(B) Improving the overall health of
the population

(C) Focusing only on urban areas

(D) Limiting access to healthcare

What nutrient helps transport

oxygen in the blood and is vital for

endurance athletes ?

(A) Iron

(B) Calcium

(C) Magnesium

(D) Zinc

26.

27.

28.

29.
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31.

32.

33.

34.

35.

For optimum health, body fat should
not be more than what percent of
total body weight for men ?

(A) 20%

(B) 15%

(C) 10%

D) 5%

Which two readings are needed to
calculate Body Mass Index of a
person ?

(A) Age and weight

(B) Weight and height

(C) Age and height

(D) None of the above

In a study, effect of yoga and
meditation class on sleep quality of
the exercisers, what type of variable
is yoga and meditation class ?
(A) Dependent

(B) Independent

(C) Extraneous

(D) Intervening

‘Pat on the back’ is primarily an
example of this type of feedback :
(A) General positive feedback

(B) Corrective feedback

(C) Non-verbal positive feedback
(D) Specific feedback

Which of the following is the most
suitable teaching style to enable
learners to discover a single correct
answer to a question ?

(A) Convergent discovery style
(B) Divergent discovery style

(C) Guided discovery style

(D) Learner initiated style

31.

32.

33.

34.

35.
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36.

37.

38.

39.

To give good meaning to sensation
means :

(A) Conduct

(B) Thought

(C) Sensation

(D) Perception

Attention that requires efforts on the
part of the observer is called :
(A) Involuntary attention

(B) Voluntary attention

(C) Habitual attention

(D) Thoughtful attention
Spectators who don’t support any
team and just enjoy the sport are:
(A) Supportive

(B) Hostile

(C) Neutral

(D) Real

Two words Psyche and Logos are

derived from which language ?

36.

37.

38.

39.

APR - 71224/I11—D

HogaN S ARTen 37¢f e o]
(A) AR
(B) fa=m
(C) Here

D) EaY

SATIAT ST STIIEEAT AN o STehteh

FHAT Medlhe Ffaydd el
STEES Y TI HUS AN el
R R EAY | [V

(A) sTfes® Saum

(B) Ufe3® A9

(C) 31=I& UM

(D) faa=t s@um™

S Yefeh VAR WOl FHLT Id @
M HE TR 2

(A) FeEET S

(B) 3ATshHS

(C) T

(D) =R

sk 0 SIS B ShI0cl wTodlel o
Y= HRd 2

(A) German (A)
(B) Greek (B) &
(C) French C) ®
(D) Arabic (D) Rfaw
40. Vitamin “A” deficiency contribute to: | 40. ‘37" SITTHTETA] HHTHD voveveveeees Id.
(A) Blindness (A) SAFSTM
(B) Cramps (B) e I\
(C) Heart disease (C) &F UM
(D) Obesity (D) ®eran
13 [P.T.O.



41.

42.

According to idealism, what is the

goal of education ?

(A) Satisfaction of human needs

(B) Self-realization or exaltation of
personality

(C) Perfect adaptation to the

environment

(D)

Developing dynamic and

adaptable mind which is
resourceful and enterprising in
all situations

Which of this statement is not true ?

(A) Physical education and
training, is an organized
instruction in motor activities

(B) Physical education aims at the

holistic development of children

(C) The

concept of physical

education is generally
understood as organisation of
some games, sports or physical
education activities in schools
(D) Physical education as an
education through physical
activities for the development of

total personality of the child

41.

42.

APR - 71224/11—D

METTERIIER Remm & & e ?

(A)

A TS i

MeA-TeaTeRR. forar =afaaaars

=l
(C) el YUl STgeeH
TR ST Sese HoR 7 ferehfird
0] S Hel G SEE= S0

(B)

(D)

oY =
SelHRICT HAN

IR hIvg faem =R e ?
(A) iR feremo enfor widreron, ses

e Tk Hefed fRer R
(B) Her=n Haior foshrd &1 e
foreqomen g9 @
(C) ImIfEn Rrgroms Hehedan |m=a:

BT FET ©B, Hiel fahdl

TR foreyor framenara= TS
A HHSIEl S

(D) gar=ar wYvl SAfsaa<ar=4l

EEARIEICIIR I LUEE IR E RIE T LFES

TITI0T USSR T9eTun
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43. Match the Philosophy of Physical

education “I” with appropriate
statement given in “II” :

List I
(@) Idealism
(b)
(¢) Pragmatism

(d)

Naturalism

Realism
List 1I
(z) Need not lay too much emphasis
on competition inspire children
for individual excellence
(z1) Insists physical educators to
take cognizance of needs,
interests and aptitudes of child

(zii) Helps every child to actualize

his potential to an optimal

extent

(tv) Ideas are enduring and physical
objects are nothing more than
ideas
(@ @) @ (@

A) @ @G @D (o)

B) @) G Gv) @

(C) @) Gv) @) @)

D) Gv) @ @) )

APR - 71224/I11—D

43. AR fFeome aeee <17, <117 99

TToie g faummRn oo :
gt 1

(@) SAERER

(b) frerfem

(c) AR

(d) TEaR
e 11

() e SR SR ST TRS TRl

e Tl JAfoTeh  SehseHTel
on e

(i) IR fasmei garen e,
SMaS! ST FNAA A& ST
HAE Ll

(ii) FTIeh TN T A g5
HEfRwlq T SOTAE Wed

(iv) Feq ez amea amfor ofifas
T Heaae Afah HE AEE
(@ ®) (© (@)

A @ @)
B) @) @)
(C) @) (v)
D) @) @

(@) ()
() @
@ @)
@) (@)
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44.

45.

46.

47.

Which of these statements best
describes Spartan education ?

(A) Producing Man-of-action a
perfect soldier

(B) Young absorb the wisdom of the
elders

Ethics, Aesthetics, Mathematics
and athletics

Develop orderly and disciplined

(&)

(D)
mind with practical outlook

Maulana Abul Kalam Azad Trophy

is given to ................

(A) Over all champion in University
Tournament

(B) Winner of All India Inter
University Hockey Tournament

(C) Overall champion All India
Inter University Women
Tournament

(D) West-Zone Inter University
Hockey Tournament Champion

2024 Summer Olympics will be held

between :

(A) 26 July, 2024 to 11 Aug., 2024

(B) 27 July, 2024 to 12 Aug., 2024

(C) 13 August 2024 to 30 Aug., 2024

(D) 18 July 2024 to 28 July, 2024

The Rajiv Gandhi Khel Ratna

Award (Former titled) was instituted

by the Government of India in :

(A) 1991-92

(B) 1993-94

(C) 1995-96

(D) 1997-98

44.

45.

46.

47.

APR - 71224/11—D

TeRT FIvT o wea freome s

FUA HAd 7

(A) & afigul dfFw TR

(B) TEUMT dfeed ITRIoMul STeHdr
AT

(C) ifaemre, Higdvm=, wfa snfor
Terifery

(D) SAERINER gfSEeh e SHaed AT
Rrdag 79 faesfya &

A 3Tgd el A 2R

o faell Sid.

(A) Toemdiic wdda w6 Fero fasm

(B) 31fEel YR SAaiiaedie gl

wear fasm
(C) faa v Aatfaemdis Afea

o~

AT GEATER oo
(D) ufyem faurfa stafaarde &t
gt fosian
2024 =41 TN Seledl Affren Su
e
(A) 26 1, 2024 @ 11 3=, 2024
(B) 27 §[o1, 2024 T 12 3T, 2024
(C) 13 e, 2024 1 30 31T, 2024
(D) 18 &I, 2024 T 28 A, 2024
itel M Tel T R (e 1)
A URA TR L hatl

el
(A) 1991-92
(B) 1993-94

(C) 1995-96
(D) 1997-98

........
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48.

49.

50.

51.

52.

Which of these class format is not
used for adapted physical education ?
(A) Competency Based

(B) One to One Instruction

(C) Self-Paced Independent Work
(D) Peer Teaching

Which of the following is not a
potential benefit of participating in
sports ?

(A) Improved physical health

(B) Enhanced academic performance
(C) Increased risk injuries

(D) Development of team work skills
The concept of “fair play” in sports
is primarily associated with which
social value ?

(A) Competition

(B) Team work

(C) Equality

(D) Respect

Which of the following limb
movements occur during ‘Jumping
Jacks’ ?

(A) Flexion and abduction

(B) Extension and adduction

(C) Flexion and extension

(D) Adduction and Abduction
When standing on both feet the
anterior-posterior

balance is

controlled by ................
(A) Circumduction

(B) Only planter flexor
(C) Only Dorsi flexor

(D) Both Planter and Dorsi flexor

48.

49.

50.

51.

52.

APR - 71224/I11—D

o e

[IRen

AUeR] IV T TWET TR I
e TR S A ?
(A) Irgder IEma

(B) &1 T &1 TRERM

(C) TE-TdT A H

(D) TE-3TeE STEATA
WeTeTUeh! hIvaT e TeIT B0l
qYre ®Egl 38 ?

(A) TR T garom

(B) aftm Rerforr wmf

(C) g@mudi=n =R Al

(D) Hifess & SR faem
W IR =l & Hehedd1 WrHEE
SHIUTCH AT et ffed e ?
(A) Tyl

(B) W a9

(C) gHM

(D) X

‘ST SR TR BTATEAT 9 UTETE

Tk ShIvc Bldarel Bia 2
(A) At offor efge

(B) w=Ror ayfor sifiyers

(C) SAfEdT A JE

(D) e 7o 3Tqeds

Tt TR fer 39 ufecaw vRRW
T~ AN Sger ]
A .

(A) THASRH
(B) TR WX AT

(C) e SITE! Tl
(D) wiex amfty Sl Tl Sl
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53.

54.

55.

Foods containing starch and

carbohydrates are important

because :
(A)
(B)

They help you grow

They stop you from getting
overweight

(C) They give you energy and fill
you up

(D)

Assertion (A) : Axis and plane are

They are easy to cook

imaginary concepts which describe
the type of movement and location
of body.

Reason (R) : A plane passing
through the body at right angle of
the median plane divides body into
posterior and anterior portions.
(A) (A) and (R) are true and (R) is
the correct explanation of (A)
(A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A) is true, (R) is false

(D) (A) false but (R) is true

A top spin causes a lower angle of

(B)

rebound, a back spin cause a higher
angle of rebound. A side spin
CAUSE ..eovvveereerannenn .

(A) Longer bounce

(B) Shorter bounce

(C) Change in the bounce

(D) No change in bounce

53.

54.

55.

APR - 71224/T1—D
ST W ST SheieshS Tewd o

..............

(A) WWes AT Hed &l

(B) T ISaerd STeshd Aal

(C) WMo Hell Hed o I A&

D) © Ferfgvarg 9u 1T

yfeures (A) : e onfor gydas R
AR FHeddl YT o IR

T A SRIfaeR Jo shard
Th (R) : YR HEFHARA (o1 STd
STEE AT HEA YA YR AR

S géiel Wi faurse s

(A) TR (A) ST o (R) SRS S
(R) B (A) = 3TF TR 38

(B) (A) &for (R) T=T SR 0 (R)
T (A) 9 TF TR TR

(C) (A) =R anfor (R) T

(D) (A) F& 3o (R) SRR
2 fegaqes gfasy |0 gal. s®

e wfaa HAfves Bl |es EaTges

ooooooooooooooooooooooo
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56.

57.

58.

For maximum acceleration all the

available forces should be applied

sequentially in proper timing and

11 o A

(A) Linear direction

(B) Intended line of motion

(C) Directly through CG

(D) Angular direction

A Rebound in any ball occurs if (1)

object moves, and the surface

remains unmoved (2) the object does

not move but the striking surface

moves (3)

(A) Both object and surface does not
move

(B)
C)
(D) Object is stationary
Match the columns and select the
correct option :

Column-I

Both object and surface moves
Only surface is stationary

(@) Acculturation
(b)

(c)

Professional socialization

Organizational socialization
Column-II

@)

(if)

Preservice experience
Enrolment issues in PETE
program

In-service experience

(@ b)) ()

@ @ @)

@ @) @)

@) @) @)

@) @Gin) @)

(279)

(A)
(B)
(C)
(D)

56.

57.

58.

APR - 71224/T1—D
SR ORIl T IUeTsy 905 YTeRId

oooooooooooo

FHITE AL W I S SRl
(1) SEqHed glef=rel Bld 90 Yool e
ST (2) o TEeR 3T9d 901 ST Jod
Blordrel d 3T (3)
(A) %] A0 gadt SI=41 Blerarel il
AErd

(B) I S ¥aA Q6! Bleraiel shedmd
(C) Ter Jaol feer ema
(D) e a%] Ter 18
WY Jegad arg 19 e

-1
TaLA Ew
AT I HTHITSeh [0l
WA TTHTISTeh [eh 0l

wa-11
@) e STHE
(i) PETE 319IEshAmIe Fay]
(ifi) HATRTT AT

(@ b)) (©

A @ @ G
B) @ G G)
(C) (@) ) @)
D) @G G @)

................

(@)
b)
(c)
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59.

60.

61.

The excellent example of traingular
or fan shaped muscle fibre is :
(A) Pectoralis major
(B) Brachioradialis
(C) Digitorum Longus
(D) Deltoid Muscle
Holding a book with outstretched
arm is an example of :
(A) Concentric Contraction
(B) Isotonic Contraction
(C) Static Contraction
(D) Eccentric Contraction
Match the following roles of muscles
with appropriate terminology :

I
(@)
®)
(c)
(d)

Agonists
Synergists
Fixators
Neutralizers
II
(z) Performs various roles indicate
cooperative muscle functioning
(i) Steady or support some part of
body against pull of gravity, or
vigorous movement
(zii) Acts to prevent undesired

action of one of the movers

(tv) Responsible for producing the
movement
(@ B) () (@

A @& @) Gu) Go)

B) @) @) Gv) @

(C) Gin) Gv) @) G

D) @) & @) G

59.

60.

61.

APR - 71224/11—D

ZeR fopran dEETeN SRR T
FREERY SEhe Saell § AT

(A) TRR[@H TSR

(B) sfasirem™™

(C) fefiery «fmy

(D) eRfe T

TS B G+ Theul § A
IEOT AR

(A) ®HfcH TR

(B) SAFHRIE TR

(C) fer smh=A

(D) sHfesh TR

= Eeld iR A AR ee e
Sesdl

(@) SR
) faafe=
(c) TR

(d) —Eemass
II

() Tafay yfferm IR qred™ HehRl T
EARIRIEGIG

(i) TEETHEY Thal RGN BT TTeS:
TIORT=AT TR AT TeeR foRar TR
ESIG|

(i) qegdd=! wHTEr eraifed e
@IS 1 L

(iv) Foedes AT HITAHET FEEER
(@ @) @ (@

A @ @) @) (o)

B) @) @i) ) @)

(C) Gin) v) @) (@GD)

D) @)y @ G @)

I
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62.

63.

Which factor influence the size
principle in motor unit recruitment ?
(A) Muscle fiber color

(B) Muscle fiber length

(C) Muscle fiber type

(D) Muscle fiber temperature

is

During glycolysis, glucose

converted into :

62.

63.

APR - 71224/I11—D

HieX e WAHE S0 =2eh AR
TR G9E el 7

(A) g w1

(B) ¥ HER Sl

(C) & HEIR T

(D) ¥ HRE q9E

TAIRITAT T ST, TR SHE ST
B

(A) Pyruvate (A) UEEEE
(B) Acetyl-CoA (B) U™ whiT
(C) Lactic Acid (C) offs ufde
(D) ATP (D) Wt
64. What is the primary function of the | 64. UK YaEUAMEY HEldeh THE WEHha
citric acid cycle (Krebs’ Cycle) in (e HEahe]) © WYHeR i T 378 2
cellular respiration ? (A) Thds Saaee
(A) Production of ATP & % . g
N (B) TIhISTE STIRAhT
(B) Oxidation of glucose . .
(C) Synthesis of proteins (C) W= FEero
(D) Breakdown of fatty acids (D) ®dr s fowme
65. The two-factor theory of motivation | 65. ITURT SF-92F TG ovveevnnnn EIEil
is developed by : faefag &er 3Te.
(A) Herzberg (A) Bt
(B) Maslow (B) HrE=Al
(C) Taylor (C) e
(D) Jung D) g
66. To assess personality the sixteen | gg =xfequam "i\("'"i"'”‘"' FIUITETS! T
personality factor questionnaire was SRTACE TEh TTATCT «veerveneen =Y
developed by : foerfga St o
(A) Eysenck (A) =fhs
(B) S. Freud (B) TH. ®ES
(C) Cattell ©) Tzt
(D) C. Jung D) . I
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67.

68.

69.

70.

Given below is the example of
objective in this domain of learning.
Ex : By the end of the unit, students
will be able to list and explain the
health benefits of regular participation
in step aerobics.

(A) Affective domain

(B) Psychomotor domain

(C) Cognitive domain

(D) Health related fitness
Mesomorph body type is correlated
(A) Shy

(B) Sociable

(C) Introvert

(D) Scared

............. is a long term, progressive
physiological response to general
and sport specific training programs
with the goal of readying the athlete
for the of
competition.

specific demands

(A) Tapering

(B) Adaptation

(C) Dehydration

(D) Volume

The process of converting short-term
memories into long term memories
is known as :

(A) Consolidation

(B) Retrieval

(C) Forgetting

(D) Decacy

67.

68.

69.

70.

APR - 71224/11—D

e ool wesfEeHe e i
R IEH L

3q1, ¢ CEESTEdl, famnef w@u
Tfesmete Fafaa geurmen wreT
TR HEA T FHl

(A) 9ETHE &F

(B) ek &

(C) =uTcHsr &

(D) AR Ygad

THHE% IR THR
3TR.

(A) TIsiTeg

(B) €IS

(C) TaugeEt

(D) TeIete

T O A0 shisl-Taimse
TTTeT FEAEHAT e, WA
YRTHANTSE Ufade 3R =] 329l
= fafirse ArvEEel T@EA R
FI R

(A) <afim

(B) esuil/STIehet

(C) Tosietertm

(D) SATRTEHEE

3TThTes T U STeiehled IO
3 WM.

............

.............

..............

(A) THATRI
(B) AUl
(C) faemm
(D) HHESIR B
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71. Factors that contribute to the

72.

73.

individualized response to training
loads and progressions are :

(@) Athlete’s training history and
health status

Athlete’s life stress

Athlete’s chronological age

(®)
(c)
(d) Athlete’s biological and training
age

(@), (¢) and (d) only

(@), (), (c) and (d)

(C) (c) and (d) only

(D) (a) and (b) only

Periods of recovery are essential to :

(@)

(A)
(B)

Remove training induced
fatigue
(®)

(c)

Replenish energy stores
Provide time for physiological
adaptations to occur

(d) Provide time for psychological
adaptations to occur

(@), (b) and (c) only

(c) and (d) only

(C) (@), (b), (c) and (d)

(D) (®), (c) and (d) only

During the phase of learning
a new skill, the athlete should
receive a detailed explanation of the
skill and observe the skill being
performed.

(A) Cognitive

(B) Associative

(A)
(B)

(C) Autonomous
(D) Micro

71.

72.

73.

APR - 71224/I11—D

wfgrerr v enfor wdiEESt Safas

gfaded IMEE QUK BEH

(@ wreyean wfvnero sfagm s
R e

ShISTIe=Al S{eie qol

)
(c)

d)
(A)
(B)

ShieIZe hICTShATIAN o9
Hiemes Sfasw i wikneo o=
(@), (c) 30T (d) T

(@), (b), (c) =0 (d)

(C) (¢) 3Tf (d) T
D) (a) 0 (b) T
QT = SRTCATEE ATt

IR,
(@)
)
(c)

........

TTRTEOHGS Tl Zehall 5L HITAEIS]
S Hiare R SISt
TRIRFARTSTE vl 2vad des
[EEARIIET

HIERTEE SAhRe BI0arH STa

THeEw S

(@), (b) 3 (¢) e
(c) =01 (d) e

(C) (a), (b), (c) MU (d)

D) (B), (¢) 30T (d) T

T =hivTed RN TEIETRH,
WIS HRTCAT IR TS R
9T el Uifest SATf0T TEY Sheledl
FRTeE e Sa afest.

(A) WHTHE

(B) w@amit

(C) @

(D) g&H

(d)

(A)
(B)

.......
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74. The competition or game plan is

75.

76.

based on
(@)
b)

Analysis of tactical trends
Analysis of the opponent’s
weakness

(¢) Analysis of the opponent’s
strengths

Analysis of the joint mobility
(@), (b) and (c) only

(a), (b), (c) and (d)

(C) (a), (c) and (d) only

(D) (b) and (c) only

When working with endurance

d)
(A)
(B)

athletes or team sports athletes,
coaches should consider using the

heart rate response as an indicator

(A) Intensity

(B) Volume

(C) Density

(D) Frequency

A relatively short amount of time is
necessary to restore performance
after ............... , the complete
restoration of performance after.......
can take several weeks to months.
(A) Overreaching and Overtraining
(B) Overtraining and Overreaching
(C) Overreaching and Overloading

(D) Overloading and Recovery

74. et fwar S =R

75.

76.

APR - 71224/11—D

oooooooooooo

ST T

(@) SEUEHE YaE fagerso

(b) wfaeeAT=N FHRITIUE fagersm
(¢) wfaegeat=n gmeAta faversm

(d) Hrear=n Tfavies

(A) (), (b) A (c) B

B) (@), ), (c) = (d)

(C) (@), (c) 30 (d) T

(D) (b) W0 (c) Ferd

STeueears enaue. fear wifes
ShISIUEHE hTH HIAMI, TR 5
Tl gfqEe
arqeeren faam shen difest.

(A) e

(B) STehIA™

(C) =Aa

(D) aERa

FR FEYSIH TTHAIT HAE]

............

........

qeT T R STEvEE 3,

......

R FREYCYH U GFHAE SIS FEl
@IS d Higd ] Yok

(A) sfregrifam anfin sfeetelm

(B) gl anfon sieexdifem

(C) sfreetlifam ot sfegtaten

(D) sfegtelifen snfor gagie
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77.

78.

Match Group-A and Group-B :

Group-A
(@) A monocycle annual training
plan
(b) The bi-cycle annual training
plan
(¢) The multiple-peak annual
training plan
Group-B
(1) Advanced or international level
athletes
(i1) Advanced or elite athletes

(zii) Novice and junior athletes
(@) (b) (c)

(A) @) () and (@i7d)

(B) i) (Gi) and (@)

(C) @ @Gi) and (ii7)

(D) G (@Gid) and (@)

Training .............. is a prime

contributor to stress. Therefore, the

coach should consider decreasing

the athlete’s level of stress during

77.

78.
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TI-A 310 gu-B Heffel Sired S ¢
A

OHIERIRe dTfoe WigTeTor <iiern

TS SIS WETETor FrT

nfecae-des anftes wfitermr s
Iu-B

T TeRel ST Teiel Terg.

(@)
b)
(c)

@)

(i) WA el I=aY TS

(i1i) e S TS erg
(@ (®) (c)

(A) @) @) enfor i)

B) @) Gi) 3o ()

©) @ G = (i)
D) @) @) o (@)
IETE e qUIETEES! T 9HE

g qUETs! el HHl HLIw

the preparatory phase by R B TR
emphasizing volume.
(A) Time (&) =
(B) Intensity (B) ot
(C) Frequency (C) aRER
(D) Adaptation (D) I
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79.

80.

81.

The

elevate the athlete’s preparedness

........... phase is the best way to
and stimulate a supercompensation
of performance that will increase the
athlete’s performance potential
during the competition.

(A) Transition

(B) Overtraining

(C) Unloading or tapering

(D) Progressive overloading
Competitions can be classified into
.................. categories.

Major or official competitions
(b) Preparatory or exhibition
competitions

(c)
(d)
(A)
(B)
©)
(D)

Selective competitions
Match competitions
(a), (b), (c) and (d)
(@) and (b) only

(®), (c) and (d) only
(@) and (d) only
.............. is structured according
to the objectives, volume, intensity
and methods that are the focus of
the training phase.

(A) Mesocycle

(B) Macrocycle

(C) Individual cycle

(D) Microcycle

80.

81.
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................ T B Wergdl IR
STREATE ST SHARRIE! GO R
SAfStq HYvaren getad qi 3T S
T SYTees ShHART &HdT STed.
(A) HFHTI

(B) sfreetefm

(C) vl fepan frgesar &

(D) wifEes siiegtanten

TG IR v AL Ll
.

(@ vHq@ foar Afupa w9l

() T fear yeel ol

(¢) Traes wul

(d) wrEA w9l

A) (a), B), (¢) 3w (d)

(B) (a) 370 (b) e

(C) (b), (c) &AW (d) ek

(D) (@) 30 (d) e

............... = A 3fEe, STRRHM,
<ot Sfn UfdTerT ToAT whafeig STHeie
TSAITIR el S

(A) HEEEwRA

(B) HehlHTHehel

(C) Tafs e

(D) WSS
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83.

84.

training methods will
impede the development of both
speed and agility and should be
avoided when attempting to
maximize these performance
abilities.

(A) Short distance

(B) Plyometric

(C) HITT

(D) Long-distance

What is the primary purpose of

obtaining informed consent in

research ?

(A) To ensure participants are
aware of the researcher’s
personal beliefs

(B) To protect the researcher from
legal liabilities

(C) To respect and protect the
rights of research participants

(D) To expedite the research
process

In-depth study and evaluation of

available information in an attempt

to explain complex phenomena is

83.

84.
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oooooooooooo

I SR ToehTaTd STSeea STUTdIeT 10T
q0 O|’)|‘~|P‘-'I|"| &HAT ATed T YT h Ll
T Ti@e ufes.

(A) T T

(B) wiEHfeH

(C) THAHLE

(D) STefaiaT

GYNeAT ATfedrqul WHel fHesaoarn

TUfas eI HE AR ?

(A) HEMIiaT wynesT=ar dafeas
favaEE=l S| &8 A= @l
ETUDI S|

(B) HeNerehre R Tfdeaiury
T OIS

(C) HIer Heni= gaehi=n el 7o
TIETO 0]

(D) HINEE Widen T SvATETd!

AN ST TR A=Al FaeTd

I0cTey Hifgdial WE@e ™ AT

known as : HTHTA AT - — 39 TR UTdId.
(A) Analytical Research (A) ﬁw BNICE]
(B) Descriptive Research (B) SUHAH® Wﬁ‘ﬁl‘[
(C) Experimental Research (C) JEfieh HemeA
(D) Qualitative Research (D) TR EIEA
85. Which one is the true example of | 85. Wil TAEHA WATHF Hifgd= @R
primary data from the following T FHOT AR ?
options ? A) v
(A) Journal ®B)
(B) Book &<k
(C) Census Report (C) ST HA&dTed
(D) Newspaper (D) SFHEAT
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86.

87.

The shape of normal curve depends
upon :
(A) Standard Deviation
(B) QI
(C) Mean Deviation
(D) Quartile Deviation
There are two sets given below.
Set-I specifies the types of research,
while Set-II indicates their
characteristics. Match the two and
give your answer by selecting the
appropriate code.
Set-1I
(Research Types)
Fundamental research
Applied research
Action research
Evaluative research
Set-11
(Characteristics)
Finding out the extent of
perceived impact of an
intervention
Developing an effective
explanation through theory
building
Improving an existing situation
through use of interventions
Exploring the possibility of a
theory for use in various
situations
Code :
(@)
(A) @)
B) @
(N0
D) @)

(@)
)
(c)
(d)

@

@i1)

€219)

(tv)

(b)

(tv)

(tv)

(i)

(1i2)

) (d)
@) @
() (@)
@) (@v)
@) @)

86.

817.
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THI TS Sk AEX STEEEd o
(A) gHOT fo=re™
(B) QI
(C) T fa=em
(D) =quter fa=em
TTel 9§ oo 3ed. He-1 FeyAN
YR TRiad, W He-II ==t Sfers=t
gyifadl. AR Siee Sjeea ST 4rd Hhie
e qrd SWl <l
Te-I
(TITEAT WehTY)
(@) YD HIMEA
(b) U HEeH
() hel TIMEA
(d) TEATHATHER TN
we-II
(afrs=)
() TRAIFS TUETE] AT I
(i) THEM™ IURUIER el TR
fasfaa w30
(ii) SRERAY ATET I O
U
(iv) Tafae wftfeudia arazoATET!
fograr e Snem
wT :
(@)
(A) @)
B) @
©) @
D) @)

®)
(iv)
(iv)
(i1)

(ii2)

) ()
@) @)
@) (D)
@) ()
@) @)
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88.

89.

90.

What are the conditions in which

Type-I error occurs ?

(A) The null hypothesis get accepted
even if it is false

(B) The null hypothesis get rejected

even if it is true

Both the null hypothesis as well

as alternative hypothesis are

rejected

(D) Both the null hypothesis as well
as alternative hypotheses are
accepted

Closed form questionnaire contains

questions that call for :

(A) Descriptive response

(B) Free response

(C) Short response

(D) Check response

Hypothesis in research means :

(z) Intellectual guess

(z1) Testable statement

(zii) Possible explanation to a
phenomenon

(tv) Negative guess

Find the correct answer from the

(C)

88.

89.

90.
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27EY-1 F2T v IR @ ?

(A) T UfiEhedq s T8l T ot
TWehRe S

(B) ¥ Uerea T S{ ff ToF et 9
ot AR ST

(C) 1 T dfeheu dd= gafH

el ATt ST

(D) Tl T UReedl qEE gt

TRere T Tehe! ST

TG YYD SEvaeh STTee T
I A

(A) FUiHTHS Hiaee

(B) T a9

(C) o9 ufaHrg

(D) yfqurg dqurE
TYNEATS IReheT T BN
() dfgHh I

(i) e AR faue

({ii) TETd WA TSR]
(iv) THNHS 3ITES

TR 7 ST e

...........

following : A) @) @) GiD)

A @ @) Gw) (B) @) Gii) Gv)

(B) Gi) Gu) (v) ©) () Gii) Gv)

©C) @ G Go) D) @) GG Gv)

D) & @ @ _ 91. WAIcTUeh! TUTCHS FYNEA U5d Jeae
91. Which of the following is mainly Fmd 7

qualitative research method ? )

(A) Survey () wefam

(B) Experiment (B) TrAIfTR

(C) Case study (C) =R 19

(D) Observational study (D) fieomers sy
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92.

93.

94.

95.

96.

97.

Study of association between two

variables come under :

(A) Co-relational design

(B) Factorial design

(C) Both (A) and (B)

(D) Experimental design

If you are collecting data on a

person’s height, which type of data

is this ?

(A) Nominal

(B) Ordinal

(C) Interval

(D) Ratio

Which skill test measures accuracy

of basketball shooting skill ?

(A) Front shoot

(B) Jump shoot

(C) Field Goal Test

(D) Zigzag Shoot

Which of the following is a

qualitative assessment tool ?

(A) Push Ups test

(B) Rating Scale

(C) Somatotype

(D) 12 min. run/walk

Brady volleyball test includes :

(A) Volleying and serving

(B) Serving

(C) Volleying

(D) Volleying,
smashing

The scoring system of somatotype is

graded in a scale from

(A) 1 to 10

(B) 1to17

(C) 1to9

(D) 1 to 8

serving and

92.

93.

94.

95.

96.

97.
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...........

(A) Heday Ay

(B) ®RITTA AfFHey

(C) (A) sufn (B) <=

(D) 9 stfyueed

SR Rl TEedl SR SeEl Aifgdt
Medl Hld 3T, T &l IVl G
Aifedt 2R ?

(A) T

(B) affea

(C) HEAR

(D) 9HIm

IO FIT FHERE TEh s
T[T SIETeATA ST HIOT i ?
(A) " I

(B) sS4 I

(C) Theg TMA <&

(D) fermsmm 312

ETeAeieh] iU YeIHa-T  TOTcHS
YT 3g 2

(A) 9 & T

(B) uefz=d #uil

(C) Wy

(D) 12 fhfe =Tero)/ e

(A) et smfor |fesT

(B) HfeaT

(C) ==iedim

(D) =Teftn, afegn snfn W
S AR ol 1 o B e
ThotHed diihd shell T
(A) 1410

B) 1497

(C) 14949

D) 1498

...........
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98.

Match the following physical fitness
components with their respective

98.

APR - 71224/11—D
TTeiTel TR Ygadl Heeh AT Falfed

I ool

tests : Irar 1
List I (@) RRIFAERY THERI
(@) Cardiovascular Endurance (b) VIt
(b) Power () feemfurem
(d) Speed 11
List II (1) foz anfor f=
(1) Sit and Reach
2) 1 ¥ITeT 01/ =TTl
(2) 1 Mile Run/Walk 23; 30ﬁ_§; W‘{f o
(8) 30 m flying test @) T T w6
(4) Right Boomrang test 5) wii\lqgﬁ 5 53
(5) Standing broad Jump rdig, u
Codes : '
@ B © (@ ®) © @
A) 4 3) 1) (@ A @ 3 @O @
B) 1) G) @) 3) B 1 B @ O3
) 2 B) @ @) < 2 6B @ 3
D @ O 6 @ D@ O & 6
99. What does the term “Mesomorphy” | 99. HHERET efiehTomHe  AEIH "' € Tl
refer to in Somatotype classification ? FE IR ?
(A) Muscularity (A) EREEGd
(B) Body fatness (B) TR @890
(C) Round physique (C) TehR IR
(D) Lean physique D) @3@ IR
100. Whicil ;)f th‘()e following statements | 1(q et BN fAEE e T 2
is not true ? e N
(A) Teachermade tests also (A) Torgrfafa YIS eI
important in evaluation el 38
(B) Standardized test is T T TS
important tool for process (B) i
evaluation Hewre e B
(9] Subjective evaluatios is.as (C) =afgfass geaamm ¥ axqfits
ler\?api:;:;i:f as  objective eATIATS e Hewa 3T
(D) Standardized test are objective (D) SHITUT i & e g es
tool for evaluation e TR
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ROUGH WORK

32



